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EWWR0001 1w 0.1R-510R | £5%(J) 11.0+1.0 | 45%0.5 | 27+2.0 | 0.65%0.05 100pcs/48
EWWR0003 3w 0.1R-1K +5%(J) 15.0+1.0 | 5.5+0.5 | 27+2.0 | 0.75+0.05 100pcs/%%
+
EWWR0006 6W 0.1R<10K | +5%(J) ‘2?;);’ Pm | 700V 7535+10 | 80+1.0 | 27420 |0.75+0.05 |#m314 |50pcs/s
EWWR0008 W 0.1R-20K | £5%(J) 31.5+1.0 | 9.0+1.0 | 2742.0 | 0.75+0.05 50pcs/4%
EWWR0010 10W 0.1R-20K | £5%(J) 36.5+1.0 | 9.0+1.0 | 27+2.0 | 0.75+0.05 50pcs/4%
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EWWR 0001=1W J=%5% R100=0.10 T=+250ppm 9=iRHER
0003=3W 1R00=1Q 0-8=741%
0006=6W 10R0=10Q
0008=8W 100R=100Q
0010=10W 1K00=1KQ
10K0=10KQ
20K0=20KQ
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